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- GENERAL MATHEMATICS SSC-li
SECTION - A {Marks 15)
B Time allowed: 20 Minutes
| NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
] Deleting/overwriting is not allowed. Do not use lead pencil.
B Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.
(i) An irrational number that contains radical signs is calied:
B A Mixed surd B. Surd C Rational number D. Natural number
(ir) Alinear polynomial is of degree:
B A. 0 B I C. 2 D. 3
- (i) LCMof 12p7g", 8p'is:
A 24 pg” B. 24p'yg C. 24p'g* D. 12p°y
| (iv)  Solution of [xI=3is:
] A 3 B. -3 C +3 D U
(V) Factorization of 2x =3xis:
N A. 0 B X(2x=3) o] 2x7 - 3x D. 3x - 2x°
] (Vi) In matrices (A4B)' =
A, AB B. BA C. B'la' D. A4'B
| (vi) A straight angle contains:
N A 00" B. 180° C 270° D. 360°
{(vii)  Area of Square with'side 'S 48"
| A. 5 B. 45 C. 28 D. 57
n {ix) Area of triangle whose all the three sides are given is:
!
A 5 hh B. hh
B 2
; a+b+c
N C. Vel a)s =) o) D. —
(x) Points on the negative x-axis have negative:
| A Abscissa B. Ordinate C. Value D. Fraction
n (xi) V288 =7
A. a2 B. J2<12 o] 212 D. 1242
| (xii)  If x<Othen x| =7
A X B. —Xx C. 0 D. 4x
" The additive id f A 3 5]
xiii} ‘he additive identity of 4 - His:
B (i} y 24
oo [-3 -5 0 0 0 ]
| A i W B. C 0 0] D. |
0 | -2 —4J 0 0 (0T
B (Xiv) Points lying on the circumference of the same circle are called:
A Collinear points B. Concentric points
[ | C Concyclic points D. Concurrent points
{xv) An arc greater than a semi-circle is called:
| A Minor arc B. Chord C. Major arc D. Diameter
| For Examiner’s use only:
u Total Marks: | 15
N Marks Obtained: o _
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GENERAL MATHEMATICS SSC-II !
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Time allowed: 2:40 Hours Total Marks Sections Band C: 60

NOTE: Attempt any NINE parts from Section ‘B’ and any FOUR questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 36)

Q.2  Attempt any NINE parts. All parts carry equal marks. {9x4=36)
) - 22
(1 If p(ry=-brr-thenfind p(r) for r=8and 7= —
(ii) Solve 8x - 273" by using formula
(i) Factorize z' -z~ +16
(iv) Solve 2(7v—6)=3(1+3x)
{v) Solve " +x-1 0 by completing square
2 3
i I A= J then show that 44 - 3.4 = A
S
{vii) If1—! A then find 1" by Adjoint Method.
IR
20 -1 2
(viiiy  Verify that BC =B where B =" A
2 4 42
() Write the equation for the given triangle and salve it
- 30° 30° -~
>x/
(x) Draw a tangent to a circle of same suitable radius from a point an the circumference with the help of ruler
and compass (writing steps of construction is not necessary)
i Find the volume of sphere with radius 3cm

X1} Find the area of equilateral triangle whose side is 8n7.
i) Find the area of a circle whose circumference is 52rcem . Give your answer in terms of 7

XIV) Pcints 4. B8and ( are on the number line at a distance of 1,4 and 8 units respectively from the origin.
Find 48.8C and AC and show that A8 - BC — 4C",

SECTION — C (Marks 24)

Note: Attempt any FOUR guestions. All guestions carry equal marks. (4x6=24)
| 4 [ 2

/ a+ by —4dab
Q.3 Simpiify - - [f x i’ ' : L,,, ‘) - ,
(¢+b) =2ab (a=h) ~3ubla+b) (a+b) 3ab

' o _ 3 dy= 7

Q4. Solve the following set of equations using the matrix inversion method oo o 5

QX Iv=1ls

Q5. Solve and check the extraneous roct ifany y—6+ \/"; =0

Q6. Aladder 17miong when sit against the wall of a house just reaches a window at a height of |5/ from the
ground. How far is the lower end of the ladder from the base of the wall?
Q7. Findthe area of a paralielogram if its two adjacent sides are | 2¢x and 14emand diagonal is 18cni.

Q 8. Show that the points 44, 2).B( 2.4yand ((5,5) are vertices of an isosceles triangle.
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